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RIART= W 89 60 29| Kg 1,404 378|&F 1,728 1,080
BB\ 2,054 2,054 Kg Syl 3,791 648
BEEIZED 896 136 760 Kg 864 648|BERS - 1,890 108
RAROL® 127 127] Kg aFN 1,296 936
BIEV¥H 367 18 349 Kg 1,080 864|EEIRE 2,592 216
36 167 9 158] Kg 594 BJE 3,780 1,080
7=Z 318 138 180] Kg =Pl 2,700 1,728| & 2,592 1,620
P 11 11| Kg FE 38,560 9,000
BAO Kg (FA=I 12,959 6,000
BEDAIED 428 428 Kg N 1,944 648
Wbl 991 991 Kg T 486 216
W L 168 168] Kg BJE 378 324
=E 965 965 Kg Al 648 259
SAFE 36 36 Kg Jtime 1,080 729
ANeP =) 118 118] Kg AR L 1,404 713
IFA WD 478 362 116] Kg 4,320 972 | RlE 2,160 1,350
BB 182 182] Kg R - B 2,592 1,080
{AHELCA 574 197 377 Kg 2,484 1,080|% 1% 3,942 3,672
WAEECA 62 62| Kg 2P 3,240
Eh1EECAH 597 597 Kg ANER L 2,408 756
nAZ7IZW 18 18 Kg |EE 468
Farok 24 24  Kg i 5,940 5,400
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315|7: B9 6 14 141 Kg = I 3,024 2,700
319|2h o 44 441 Kg KB 1,836 1,026
332|= 13 WA =EF 65 65| Kg Bl = 2,268 2,160
351|£H 17 5 12| Kg |[&HE 3,240 ®E 12,960 4,860
35411FxE<Y 20 20 Kg [ 1,404 578
355(mp Y 235 235 Kg FH - P E 1,620 600
356(L L& 45 45| Kg SER 1,512 864
357|7RE 24 241 Kg = 1,782 1,080
358|KE 15 10 5| Kg |EHM 1,728 FAN 2,916

401|H W 77 17 60| Kg |IH& 1,620 Iz B2 1,890 1,620
4025 E 15 15| Kg [ 4,860 4,320
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SE WA AR 20 20| Keg F 900
MR Z 381 381 Kg 3 3,290 980
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70110 BA 1,991 783 1,208 Kg [&EE 6,119 4,050| 2k, 2,700 2,052
709|Lb LALF 3 3| Kg FE 1,566
710(2 2 AT 33 331 Kg ERS 1,350 1,080
713|IL L» & HF 23 23] Kg blo el 7,020 918
7511 EFFHh N 14 141 Kg SR 1,728
755\ ®H L 424 424 Kg =N 553 528
56| £ 9 8 8] Kg SR 1,026
B01[IBAL = 1S 262 2621 Kg tmE - mA 2,700 540
805 = 1E 453 4531 Kg bF 1,037 583
810|BAKTF 129 1291 Kg JbiF 2,700 1,512
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